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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

D65:Σy−R17M3,s(λ)=99,79
xR17M3,s=0,3187
yR17M3,s=0,3310
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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

D50:Σy−R17M3,s(λ)=98,08
xR17M3,s=0,3418
yR17M3,s=0,3628
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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

P40:Σy−R17M3,s(λ)=97,09
xR17M3,s=0,3675
yR17M3,s=0,3815
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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

A00:Σy−R17M3,s(λ)=97,36
xR17M3,s=0,4199
yR17M3,s=0,4206
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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

E00:Σy−R17M3,s(λ)=99,94
xR17M3,s=0,3333
yR17M3,s=0,3333
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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

C00:Σy−R17M3,s(λ)=100,66
xR17M3,s=0,3185
yR17M3,s=0,3205
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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

P00:Σy−R17M3,s(λ)=99,05
xR17M3,s=0,3528
yR17M3,s=0,3556
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R17M3-Spektralwerte Ysum=100
y−R17M3,s(λ)=A21l

−
R17M3,s(λ)+A22m

−
R17M3,s(λ)

+A23s
−

R17M3,s(λ)
A2j 0,5000 0,5000 0,000 (λ=540)

Q00:Σy−R17M3,s(λ)=101,44
xR17M3,s=0,3150
yR17M3,s=0,3087


